





JR

(  1,218m)

194km 3,900km’
2
92
54 JR
20
150 200m
400 600m
1,000 1,300m

JR



70

1,500mm
2,000mm

1/500 1/900

1/300 1/600



49

9 (1632 )

26 10

28
40 6

1,800m*/s

7

16

1/900 1/6,000

18

9
20 9
41 6
7,600m*/s
5,800m*/s

41



28

47

48
10,200m*/s 14,200m*/s
7,600m*/s 10,700m*/s

12,000ha

14 kw

400



PR
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33 40 47

10,200m*/s
14,500m*/s 2,600m*/s
3,800m*/s 7,600m*/s 10,700m*/s
(m'/s) (m/s) (m/s)
10,200 2,600 7,600
14,500 3,800 10,700
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2,750m*/s 7,600m*/s
10,700m*/s
3,200m*/s
2,600m*/s
3,200 | o m/s
2,600 l
_
[ J
10,700 9,700 7,600 2,750 1,200
<&— < €<— <— <—
o = ® e o
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D

(km) T.P.(m) (m
167.1 199.46 95
141.6 159.20 90
139.0 157.54 250

36.3 38.38 160
1.4 5.36 420
0.0 3.36 490
5.0 161.84 210
1.0 159.70 100

T.P.:
1
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2.3m*/s 0.3m*/s

0.9m*/s 3.5m*/s
48 (32 16 )
18.7m°/s 31.9m%/s 10
10.6m*/s

16m*/s
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